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I-Lesson 12

Note: The use of unit language (e.g., 21 hundredths rather than 0.21) allows students to use knowledge of
basic facts to compute easily with decimals.

1. Complete the sentence with the correct number of units, and then complete the equation.

{ 0.21 = 21 hundredths }

A\
3groupsof 7  hundredthsis 0.21. 0.21+3=_40.07
| know the basicfact 3 x 7 = 21. This is similar. Since 21 + 3 = 7, then
3 x 7 hundredths = 21 hundredths 21 hundredths + 3 = 7 hundredths

2. Complete the number sentence. Express the quotient in units and then in standard form.

Since the divisor is 4, 'll decompose 8.16 into 8 anes and 16 hundredths.
Both 8 and 16 are multiples of 4.

a. Ble+4= 8 ones -4+ 16 hundredths + 4

2 ehes + 4 hundredths

[80nes—:—4:20nes=2 ? _ '
=_ 04 16 hundredths = 4 = 4 hundredths = 0.04 ]

2+0.04 =204

Since the divisor is 6, I'll decompose 1.242 into 12 tenths and 42 thousandths,
Both 12 and 42 are multiples of 6.

b, 1242 + 6 = (1Z tenths + 6) + (42 thousandihs +~ 6)

= 2 tenths +7 thopsondths

[ 12 tenths +6 =2 tﬁ: 8. 267
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42 thousandths + 6 = 7 thousandths = 0.007 }

M A?H’- identifiable multiples using plate value understanding and relate to a
written method.
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Find the quotients. Then, use words, numbers, or pictures to describe any relationships you notice

between the pair of problems and their quotients.

a. 35+5= 7 b. 35+-5= 0.7
[ | know this basic fact! J | can use that basic fact to help me solve this one.

35tenths = 5 = 7 tenths = 0.7

Both problems are dividing by 5, but the guotient for part {n} is 10 Hmes farger thon the guotient for
{b}. That mokes sense becouse the number we storted with in part (o] Is olso 10 times larger than the
number we started with in part (b,

Is the quotient below reasonable? Explain your answer.

a. 056+7=8 ——==‘——:—'-Jl 56 hundredths + 7 = 8 hundredths }

[ (.56 = 56 hundredths }

N, the guotient is not regsonable,

86 = 7 = 8, 50 56 hundredihs + 7 must be 8 hundredths,

A toy airplane weighs 3.69 kg. it weighs 3 times as much as a toy car. What is the weight of the toy car?

airplone . .
wp weighs 3 times \9 hundredths + 3 = 3 hundredths = 0.03
as much as the: .
car car, so |

24

| draw 1 tape diagram to show the weight
of the airplane.

| can yse unit language and basic facts to
solve.

3ones+ 3=1one

6 tenths + 3 = 2 tenths = 0.2

The airplane

partition the 3 units = 3,69

. tape diagram, {unit = 3,69~ 2
into 3 equal

units. funit= 1 23
/

The car is equal
to the weight of
1 unit.

The toy car weighs . 23 kg,
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